Geometry Reminders for the ACT
Angle Measures

Interior angles of a triangle  Angles thatform aline  Angles that form around a  Interior angles of a polygon with n
add to 180° add to 180° point add to 360° sides add to180(n — 2)

(are supplementary) ex: With 5 sides, you can make 3
{or 5 - 2) triangles drawing diagonals
from any one vertex.
Interior angle sum will
be 180*3 = 540°.

Angies Formed by Parallel Lines and a Transversal

If parallel !iqes are cut by a transversal, then If any of *, then the lines cut by the transversal are parallel.
~alemat ln?erlor andss = If any of * not true, then the 2 lines are not parallel.
-corresponding angles = ‘ £
-alternate exterior angles = # L ,

-same side interior angles are suppiementary s =
-same side extericr angles are supplementary 7/ / \
V _ 5\ 6

: L — s
Extend parallel lines and transversal to help see the = A A
relationships in polygons such as a parallelogram. . \
ey ==
// 4
//1

Side Measures of Triangles

Use the
If \'\ then a® + b* =2 @thagorean Triples C% ; sysmmetry
\ save you time. ILANE 7] of
a % & 34,5/ 6,810/9,12,15 X b . isosceles
\\ B it o \ B triangles!
512,13 /10,24,26 N _ X3
7,24,25 ' )
\ X 60° -
- 9, 40,41 =

b o 2 X

On the Coordinate Plane
If you forget the distance or midpoint formula, start by plotting the two points you are given {a guick sketch!).

For distance, For midpoint,
use the Pythagorean Theorem: 4 A (x1,¥1) remember that the x-coordinate %
of the midpoint is exactly in the el
AB? = (x2 - x1)% + (y2 — y1)? middle of the x-coordinates of e i L
el the endpoints(and the same for y). 2 %
e {x2,y2) (x2,y2) ]

The equation of a circle with center (h, k) and radius ris (x — h)* + (y - k)* = ~.

Similar Triangles and Polygons

If two polygons are similar then all corresponding angles are congruent and all corresponding sides are proportional.

Common and Important Formulas

Circumference of circle = md Area of a parallelogram = bh  The height must be perpendicular to the base!
Area of circle = TT7° Area of a triangle = %bh If the height is not given, look for a right

triangle and use the Pythagorean Theorem,
Surface area of a 3D figure: find the area of each side and add.

&



Geometry Practice

1. The parallel sides of the isosceles trapezoid shown
below are 10 feet iong and 16 feet long, respectively.
What is the distance, in feet, between these 2 sides?

A 3 10 ft
@ 4 5 ft ! (l 5 ft
’'5
D. 10 |
E. 16 16 ft 3
g e s =
10

2. A moving company uses a plank on a staircase from the
top of a staircase to the floor to allow them to move a
heavy desk. As shown in the figure below, each stairis 7
inches high and 10 inches deep. Which of the following is

closest to the length, in inches. of the plank?
jY .

A 42
B. 48
© 7
D. 102 7 ~
E. 252 1o &

3. In the figure, all of the line segments are either
horizontal or vertical, as shown, and the dimensions are
given in centimeters. What is the perimeter, in
centimeters of the figure?

@26

B. 29 4

C 31 B

%

E. 81 5

8

4, Given below are 4 true if-then statements involving
pairs of the 5 statements 4, B, C, D, and E.

If Ais true, then Cis true.

If D is true, then Eis true.

If A is true, then D is true.

If Eis true, then B is true,
If A is true, then which of the following lists gives all the
other statements that are necessarily true?

L
@) B,C D, and £

B. B,D,andE e _C o

C. BandE /3‘7‘79 HE~FD
D. CandD

E. C D andE

5. Inthe figure below, the vertices of AABC have (x, y)
coordinates (4, 5), (5, 3), and (1, 3), respectively. What is

the area of AABC?
A4 5)
@ 4
B. 42 s
C. 43
D. 8 Ci1.3) T B(E3)
E. 82 I
-

6. In the figure below, ABCD is a square and E, F, G, and H
are the midpoints of its sides. If AB = 12 inches, what is

the perimeter of EFGH, in mCheS?Cs 3
= . "
A 24
(B) 24v2 b
C. 36v2
D. 482
E. 72

7. In the standard (x, y) coordinate plane, point A has

coordinates of (1, 7) and point B has coordinates of (8, 20).

What are the coordinates of the midpoint of AB?

8. In the standard (x, y) coordinate plane, point M with
coordinates (5, 4) is the midpoint of AB, and 8 has
coordinates (7, 3). What are the coordinates of A?

e |
A (8,27) g AT (17,11) ek ((,{5
B.7(3.5,6.5) i\ /Gﬁ& 2) 54
C. (4,14) o _HZ.(6,3.5) 13
D7 (-6, -6) J/ (3, 5)
(E) (4.5,13.5) K (3,5)
|48 ‘?:}_"1_(3’ How are problems 7 and 8 different? P& 240 ":5 7
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